Relaxation and Duality
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(2%,+%,) <y, + (3x,+4%,) <y,  70y,+180y,
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(2y1+3y,) >< X+ (Y1+4Y,) <X, 1

min. 70y, +180y,

2y, +3y,>6
Y, +4y, 24

Y, Y, =20




min 70y, +180y,
s.t. 2y, +3y, 26
y, +4y, >4 :>
Y1, Y, 20
P) (D)
max 6x, +4x, min 70y, +180y,
st 2%+ % <70 :> s.t. 2y, +3y, 26
3x, +4x, <180 y, +4y, >4
X, X, 20 <;:| Y. Y, 20
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- 2 1
- 2 1 duality

maximize z=-x, +2X,
subject to 2%+ X, >8
X +3X,+% =9
Xy X5, X5 =20

(P)

max 6x, +4x, y, 0

s.t.

1
2%+ % <70 70-(2x,+x;) O y,(70-(2x,+x,)) O
3%, +4x, <180 ) y, 0
1 2 180-(3x,+4x,) 0 15(180-(3x,+4%,)) O

X, X, 20

ey L L

max  6x,+4%, +Y,(70— (2%, + X,)) + Y, (180 — (3%, +4Xx,))
st. 2x,+ Xx,<70
3x, +4x, <180
X, X, 20




(P1)

max  6x,+4%, +VY,(70— (2%, +X,)) + Y, (180 — (3x, +4Xx,))

st 2Xx,+ X, <70
3x, +4x, <180

X, X, 20
Y ¥, 20
(P2) @ (Lagrange Relaxation)
max  6X, +4X, + Y, (70— (2x, + X,)) + Y, (180 — (3x, +4x,))
s.t. X, % 20, y,y,20 ‘

max  6X, +4X, + Y, (70— (2x, + X,)) + Y, (180 — (3x, +4x,))

s.t. X% 20, ¥,Y,=0 q’_

(P2)

@(Pl)
d
E—\Zyl-3y2 0] B\-Yr‘l)’z 0]

max  (6-2y, —3y,)% +(4—Y, —4Yy,)x, + 70y, +180y,
st. X, % 20, Y, Y, 20

()

&2y1-3y2 o\ u—yl-élyz 0\ g—j

max  (6-2y, =3Y,)% +(4- Y, —4Y,)X, + 70y, +180y,
st X, % 20, y,y,20

&> min. 70y, +180y,

st 6-2y,-3y,<0
(D) 4= y,-4y,<0
Vi ¥, 20




P)

()

max  6x, +4x, min. 70y, +180y,
st. 2Xx,+ X <70 st 2y,+3y,>6
3X1-+-4X2 <180 <:::> y,+4y,>4
X1’X220 yl’ yzzo
maximize z=-x, +2X,
subject to 2%+ X, >8
X +3X,+% =9
Xy X5, X5 =20
" 1)
max. X +2%, 8-(2 0 " gz 0
-(2X,+ (2%, +
st 2+ % >8 (2x1+x)) Y1(8-(2%,+xy))
X +3%X, +% =9 9-(X,+3%,+%)=0 Yo
X, %, X, > 0 2 Ya(9-(+3%,+%5))=0
ey L L
max. —X1+2X2+y1(8—(2X1+X2))+y2(9—(X1+3X2+)<3))
s.t. 2%+ X, >8
X +3%X, +% =9
Xy %o, X3 20
y, <0
y, >0




(2)

max. —X, +2%, + Y, (8— (2% +X,)) + ¥,(9— (X, +3X, + X))
st 2+ X >8

(P1)

X +3%, + X, =9
Xis Xy, X3 20
<0
(P2) L (Lagrange Relaxation)
max. —X, +2%, + Y, (8 (2% +X%,)) + V,(9— (% +3%, + X))
s.t. X, Xy, % 20
y; <0

| ©)

max. —X1+2X2+y1(8—(2X1+X2))+y2(9—(X1+3X2+X3))
s.t. Xi1 Xy, X3 20
;<0

@&2)’1‘3& 0‘ \_23/1'3)/2 0‘ b’zﬂ

max. (—1-2y, = Y,)% + (2= Y, —3Y,)% +(=Y,)%, +8Y, +9Y,
s.t. Xps Xy, X3 20
Y, <0

(4)
-1-2y,Y, O‘ Eyﬁyz 0‘ b@i‘

max. (_l_2y1 - yz)x1 +(2_ VA —3y2)x2 +(_372)X3 +8y1 +9yz
s.t. Xi1 Xy, X3 20
;<0

min. 8y, +9y,
st. -1-2y,-y,<0
2—-y,-3y,<0
(D) 1 - 2<O
Y =

y, <0
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P) (D)
max. —x, +2X, min. 8y, +9y,
st 2%+ x, >8 st 2y, + y,2-1
X +3%, +% =9 <\,:> Y, +3y, 22
Xp, Xp0 X 20 Y, <0
¥, 20
() ()
(D) (P)
min. 70y, +180y, max 6x, +4x,
st. 2y, +3y,>6 |::> st 2x+ X, <70
Vit4y, 24 3x, +4x, <180
Y1, ¥, 20 X, X, 20
() ()
(D) (P)
min. 8y, +9y, max. —X +2X,
st 2y, + y,>2-1 st 2%+ X, >8
Y +3y,22 |::> X +3% + X% =9
Yy, <0 Xy, X0 X 20
¥, 20




(weak duality)
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(P) ©)
max  6x, +4x, min 70y, +180y,
st 2x+ X, <70 s.t. 2y, +3y,>6
3x, +4x, <180 y, +4y, >4
Xl’XZZO yliyzzo
Q Xy
R X,
max 6x +4x,
st 2x+ x,<70
3x, +4x, <180
X, % =0
z| x1] x2| sl| s2
x1 o 1| o] 4/5[-2/5] 20
X2 0 o 1[-3/5] 2/5] 30
z 1l of ol12/5] 2/5] 240
X, 20 x, 30

3y, -5, =6
Vit 4y, -5, =5

Y1,Y,:8,8,20

o

min 70y, +180y, max (-z) =70y, 180y,
>
s.t. 2y, +3y, 26 st 2y, +
y, +4y, >4 ‘
Vi, ¥, 20
(-2)| vyi| y2| s1| s2
yl 0| 1| of-4/5] 3/5| 12/5
y2 o o] 1] 1/5[-2/5] 2/5
(-2) 1 o] of 20 30 240
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max 6x, +4x,

z| x1| x2[ sl s2
St 2%+ % <70 |1y ol 1] ol ass[-2/5] 20
3%, +4x, <180 [x2 ol of af[-3s5] 2/5] 30
%% 20 |z 1] of ofzazs[ 275] 240
/min 70y, +180y,
st. 2y, +3y,>6 (z)| vyl y2] si] s2
gy > a| ML ol 1] of-4ass5] 3/5] 12/5
M 7 ol ol 1l ass[-2s5] 2/5
Y Y2 20| (=2 1l ol ol 20l 30[ -240
2
: t
max. c¢'X ~ min. b'y
st. Ax<b ~ st. Aly>c
x>0 y=0
LP
L 4
{ J (strong duality)
max. (70—2x, — X,)y, + (180 -3x, —4x,)y, + 6x +4x,
st X,X% 20, vy,y,20
@ |(70—2x1—xz)y1+(180—3x1—4x2)y2:O| ﬁ
(P)[max  6x, +4x, ) (D) |min. 70y, +180y,
st 2x+ X, <70 st. 2y, +3y,>6
Xi’XZZO ylv yz ZO

@ (62, 3y )4+ Gy, 4y, =0] 1T

max (6-2y, —3y,)x +(4—y, —4y,)X, + 70y, +180y,
st. X% 20, y,Y,20
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(Complementary slackness condition)
v, ()

(70—2x,—X,)y, +(180—3x, —4x,)y, =0
(6-2y, =3y,)% +(4-Yy, —4y,)%, =0

I
(70-2%-%,)y, =0
(180—3x,—4x,)y, =0 i

(6—2)/1 _3y2)X1 =0
(4- Y1 74y2)x2 =0

|X1’X2 Q) |M |y11y2 ()
L]
L]
1=
=
1 min 10x, + 20x, + 30x, 2 min 30x, +10x,
St 2X +X, +3X, >4 st X +X,>4
X, +2X, +4X; 25 5%, +X, =25
X, X, X3 =0 X, X, 20
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P.QR AB
P A 3 B 2
P1 Q1 R1
A 2 4 40
B| 2 4 3 42
7 10
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